BMAZ / Components [ x®&2 : TY-34)2008.02.08
4+%8 / External View No. %# / Part name HE / Pcs ME / Material ® . xEME / Color- Finish
T |y THN— / Top cover 1 ABSHEifs / ABS AJ{NT V- / White gray
2 |®7+ — / Base 1 ABSEiRE / ABS AJ{NT b= / White gray
3 (Al y b / Gasket 1 Y73y / Polyurethane 73v7 / Black
L |7y # / Latch 3 27702 / Stainless steel #WIE / Unfinished
® ® 5 [Emffx—-2Z2ALA (M6 x 10) 6 $k = ffi70%-k
Screw(M6 - 10) Steel Trivalent chromate
6 |YMERERfTE 6 ATIVA L33
Mounting brakef Stainless steel Unfinished
T [EmfACA M6 X 10) 8 K = f@70x-k
Screw(M6 - 10) Steel Trivalent chromate
T7-7 VT —% / Technical Data
REZMH/ / Protection class IP65
ERARESEE / Operating temperature [ -10C ~ +60C
830 188 2 WEEME 2 5 2/ Flammability class UL9LHB
162 .
726 38
181.5 1815 1815 181.5
] o — ] = : =
= IE
= — L‘
o o = O o o =
M| |l Q = =
— - -
LN B B =
aa = =
) 11 p—— = -
—— - =g ananadia
8-M64 - Myh
[%7 5 36 5 8-M6 Insert nut
_ll"
m|
A (e o]

- N _ 2% /Title -
6-M64YH-h9h BAXMZ D FERELE B5K - BAEERENABST 7Ky 7 A O L
6-M6 Insert nut TAKACHI FLECTROMICS ENGLOSURE Co. LD IP65 LATCH-HINGED ABS PLASTIC BOX

' K /Approved | IRE /Checked | #E/Created |Z% /Product number RE/Scale‘l's
. BCAP608018G :
=) iR 172
fEsE /Date  2018/10/09




RfR / Internal View

[ x®&=2 : TY-34)2008.02.08

KT 1 — (M)

Base (Internal View)

H N — (AR)

Cover (Internal View)

830
= = | |
® © ® ©
J | J . | I Lﬁ
H —
7 N s ~ ' N e § g LN
e
=
() >
C] M & ® T
N >
~
#H
A\ J . J . | L7 -'T
a—l S
)\ 'd \ ' ~\ ' i 4@
2 ® @ R
7 - T |
8-M64 Y%= NFyh 6-M64I4-Myh
- 8-M6 Insert nut 6-M6 Insert nuf
LN
N=)
E
=
~ I _—
M (-]
5 I )
~
# m m T m m . &% /Title N —
o [TakacH)] #st&it s h F BRI B5K - BERBRABST 7Ky 7 A O L4
& o . TAKACHI ELECTRONICS ENCLOSURE Co., LTD. |P65 LATCH HINGED ABS PLASTIC BOX
T BT % /Max dim. 177 _ - =E /Sl
' ! K /Approved | IRE /Checked | #E/Created |Z% /Product number 18
. BCAP608018G ‘
& iR 2/ 2
fERB /Date 2018/10/09




	BCAP608018 Model (1)
	BCAP608018 Model (2)

